REQUE:					
No.	9621	TROY SCHOOL DISTRICT	•		
DUE DATE	NO LATER THAN	1140 RANKIN, TROY, MICHIGAN 4808	3		
7/09/09	3 p.m.	248-823-4052			
		FAX: 248-823-4077		DATE	6/24/09
		REQUEST FOR QUOTE – NOT AN ORDER			
THE R		IS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST BID ENVELOPE ENCLOSED PPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE	THIS IS N	IOT AN (ORDER
	Q NOWING TAIL		-		
Quantity	Diagon gumphu ugusikh	DESCRIPTION	UNIT PR	ICE	AMOUNT
		your bid to furnish the Troy School District with RATHLETIC EQUIPMENT			
		Copies of the bid are available at:			
	www.troy.k12	.mi.us/purchasing/items_out_for_bid.htm (left column)			
		Bid recaps will be available at:			
	www.troy.k12.	mi.us/purchasing/items_out_for_bid.htm (right column)			
	FACSIMILE BI	D IS NOT ACCEPTABLE			
	bidders. The late submission of	mitted after the deadline specified (local time) in the advertisement to bid or in the information to f a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the he mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.			
	Proposal for the submission of is not clearly noted and describ	alternatives by vendors will be accepted and reviewed. However, if any substitution or departure ed, it will be understood that the bid intends to exactly meet the specifications.			
	be mailed or delivered to the Pu Michigan State Sales and Use will be furnished when necessa	e the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must urchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates ry. This request imposes no obligations on the buyer. The Board of Education reserves the right is or to split awards by items or to accept bids, which will best serve the Board of Education.			

THIS AREA MUST BE FILLED IN

DELIVERY TIMI	Ē	PRICES FIRM FOR		TELEPHONE NO.
TERMS	RMS		NO. & STREET	FAX#
	ALL DELIVERY	/ CHADGES		
FOB	MUST		CITY, STATE & ZIP CODE	E-MAIL
DELIVERED	BE INCLUDED	IN PRICES SHOWN		
CONTACT PER	SON (PLEASE P	RINT)	SIGNATURE	DATE

Note: All bidders are specifically reminded that a completed Affidavit of Bidder (Familial Disclosure) MUST be completed and submitted with the bid response. Failure to include a completed copy will be grounds for disqualification of bid. The Affidavit of Bidder is required to be notarized for construction bids only. All others only require completion and signature.

AFFIDAVIT OF BIDDER

The undersigned, the owner or authorized of (the "Bidder), pursuant to the familial disclosure redefine (the "School District") advertise represent and warrant except as provided below between the over(s) or any employee of and any mer School District or the Superintendent of the School	quirement provided in the ment for construction bids, hereby , that no familial relationships exist
List any Familial Relationships:	
	BIDDER:
	By:
STATE OF MICHIGAN))ss. COUNTY OF)	Its:
This instrument was acknowledged before me on the by	
	,Notary Public
	County, Michigan
	My Commission Expires:
	Acting in the County of:

TROY SCHOOL DISTRICT 2009/10 WINTER ATHLETIC EQUIPMENT Bid 9621

QTY	DESCRIPTION	ALTERNATE	UNIT COST	TOTAL
	Athens Boys Basketball			
3	CDF-1 Basketball. Coaches Double Folder			
2	SNR-60. Slip Nott Replacement Pads			
4	Mark V Scorebooks			
6	GGN. Anti-Whip Nets			
2	TMB Ball Bags			
15	Red/White Reversible Mesh Practice Jerseys with numbers. Sizes 3-Medium, 9-Large, 3-XLarge. Numbers 20-24, 30-34, 40-44.			
12	TF-1000 ZK Pro Men's Basketballs.			
1	PJR-14 Portable Jump Rope Rack			
16	Speedline Collegiate basketball jerseys and shorts. White Jersey with scarlet trim, lettering & numbers. "ATHENS" on front with 6" number. Small letter "A" at neckline. 8" number on back. (5) size 44 – #'s 10,12,14,20,22. (8) size 46 - #'s 24,30,32,34,40,44,45, 53. (2) size 48 – #'s 50,52. (1) size 50 - # 54. Shorts – Letter A on right leg scarlet. Stripes on shorts white stripes with red insert.			
16	A12.0788/A12.0794 Pro-line Custom shooter shirts/pants. 95 Dazzle. 2-color white with scarlet & gold trim. "ATHENS" on front. A12.0794 Men's pants. Sizes 4-Medium, 8-Large, 4-XLarge.			
	Athens Girls' Basketball			
2	A21.760 Multi-sport indoor timer/scoreboard. (GL Sports Catalog)			

QTY	ATHENS GIRLS BASKETBALL (CONT'D)	ALTERNATE	UNIT COST	TOTAL
12	Rawlings girls basketball MI-comp model.			
1	Ball storage cage.			
15	AW904 Under Armor Hype Warm-up jacket. Red. Left breast block lettering ¾" "ATHENS" stitched in a semi arched with the word "BASKETBALL" underneath stitched straight and basketball (1 inch orange) in between. Sizes 2-Small, 5-Medium, 6-Large, 2-XLarge.			
15	AW905 Under Armor Hype Warm up pants. Red. Sizes 2-Small, 5-Medium, 6-Large, 2-XLarge.			
	Troy High Boys Basketball			
12	Rawlings Leather basketballs. MHSAA Logo.			
1	LSNR. Slipp Nott Replacement pads.			
15	Carry bags. TC intertwined on the side.			
2	EZ Rebounders. Rebounding rings.			
12	6 inch mini-cones.			
4	Mark V Scorebooks			
	Troy High Girls' Basketball			
6	AN55-615. Girls Spalding TF 1000 Basketballs. Size 28.5"			
6	AN55-638 Girls Rawlings Vision Basketballs. Size 28.5			
1	AN47-351. Curved Body Shield. Size 24 x 16 x 4.			
1	AN55-745. Slipp-Nott traction refill. (SM60) 18x19			
6	AN94-202. Classic Whistles			

QTY	Baker Middle School Girls Volleyball	ALTERNATE	UNIT COST	TOTAL
10	SV18L. Practice volleyballs. White/green if possible.			
2	SV-5WH. Game leather volleyballs. White/green if possible.			
	Boulan Park Middle School Girls Volleyball			
2	Whistles w/lanyards			
2	Volleyball Scorebooks			
2	SV-5WH. Game leather volleyballs			
10	SV18L. Practice Volleyballs			
6	PASSRITE. Pass Rite Training Aid.			
1	CRUSH. Spike Trainer			
	Larson Middle School Girls Volleyball			
15	6786 Tachikara Volleyballs			
50	Y29.0922. GL Sports Pro line volleyball top. Navy with white piping. Racer style lettering "LARSON" across chest with number on right shoulder. Number centered on back. Sizes: 15-Small, 20-Medium, 10-Large, 4-XLarge, 1-XXLarge. Numbers 1-50.			
50	Y29923. Volleyball short to match top. Navy with white piping. Sizes: 15-Small, 20-Medium, 10-Large, 4-XLarge, 1-XXLarge.			

COMPANY:		
ADDRESS:		
CITY:	_STATE:	_ZIP:

ыu	9621	Pyram	id School Pro	ducts		Riddell		E	Bill Fritz Sport	s	F	-laghouse Inc	;.
Qty	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	
3	Athens Boys Basketball Basketball. Coaches Double Folder			-	ASMARK5	5.00	15.00			-			
2	Slip Nott Replacement Pads			-			-	SNR60	40.00	80.00			-
4	Mark V Scorebooks			-			-			-			-
6	Anti-Whip Nets	Carron 10202 price/pair Tachikara	5.39	32.34			-			-	3 pair. Flaghouse #536/pr	4.14	24.84
2	Ball Bags	ТМВ	7.99	15.98			-			-			-
15	Red/White Reversible Jerseys				RBKR	18.55	278.25			-	Flaghouse		
12	ZK Pro Mens Basketalls			-			-			-	15794 Flaghouse	45.31	543.72
1	Portable Jump Rope Rack			-			-			-	7494	63.44	63.44
	Speedline Basketball Jerseys & shorts Pro-Line Custom Shooter shirts/pants Athens Girls Basketball			- - - -	Any custom game uniform style	97.84	1,565.44 - - - -			- - - -			
0	M IS Count In Inc. Transico	Champion	070.05	750.00				01/0000	000.00	700.00	Flaghouse	000.47	004.04
2	Multi-Sport Indoor Timer/Scoreboard	T90	379.95	759.90			-	SK2222	368.00	736.00	11107	332.47	664.94
12	Rawlings Girls Basketball	Champion		-	RRBCARTB		-			-	Flaghouse		-
1	Ball Storage Cage	LBCXX	189.95	189.95	LD	260.21	260.21	BLX	139.00	139.00	144	67.83	67.83
15	Under Armor Warm-Up Jacket			-			-			-			-
15	Under Armor Warm-Up Pants			-			-			-			-

Dia	9021				_			_					
		Pyram	id School Pro	oducts		Riddell		E	Bill Fritz Sport	:S	F	laghouse Ir	ic.
Qty	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	
•	·												
				-			-			-			-
	Troy High Boys Basketball			-			-						-
12	<u> </u>			-			-		40.00	-			-
1	Slipp Nott Replacement Pads			-			-		40.00	40.00			-
15	Carry Bags			-			-			-			-
2	EZ Rebounders. Rebounding rings			-			-			-			-
	0,11,11,11,0	Champion		a= aa							Flaghouse		
12	6" Mini Cones	C6	3.15	37.80			-			-	150	1.67	20.04
4	Mark V Scorebooks			_	ASMARK5	5.00	20.00			_			_
•				-		0.00	-			-			_
	Troy High Girls Basketball			-			-			-			-
e	Girls Spalding Basketballs									_	Flaghouse 7238	40.77	244.62
6 6	Girls Rawlings Basketballs			-			-			-	1230	40.77	244.62
O	Giris Nawiirigs Basketballs			-			-			-			-
1	Curved Body Shield			-			-			-			-
	O								40.00	40.00			
1	Slipp Nott Traction Refill			-			-		40.00	40.00			-
											Flaghouse		
6	Classic Whistles			-			-			-	8351Blk	3.97	23.82
				-			-			-			-
	Baker Girls Volleyball			-			-			-			-
											Flankana.		
10	Practice Volleyballs	Tachikara	25.69	256.90			_	SV18L	26.30	263.00	Flaghouse 99ZX14352	33.88	338.80
	Tradition Volley Ballo	. aorimai a	20.00	200.00				01102	20.00	200.00	002/11/002	00.00	000.00
											Flaghouse		
2	Game Leather Volleyballs	Tachikara	31.04	62.08			-	SV5WH	35.00	70.00	99ZX14339	42.08	84.16
	Bandan Cirla Wallanda II			-			-			-			-
	Boulan Girls Volleyball			-			-			-			-
		Champion									Flaghouse		
2	Whistles w/lanyards	601 + 126BK	1.3	2.60			-			-	11564	4.46	8.92

		Pyramid School Products			Riddell			D:	II Fuit- Cuant			الممادمات		
									II Fritz Sport			- aghouse ZX14339 42.08 84.7 aghouse		
Qty	Description	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	
2	Volleyball scorebooks			-			-			-			-	
											Eloghouse			
2	Game leather volleyballs	Tachikara	31.04	62.08			_		35.00	70.00	99ZX14339	42 08	84.16	
_	Samo leaner velley balle	raoriitara	01.01	02.00					00.00	70.00	Flaghouse	12.00	01.10	
10	Practice Volleyballs	Tachikara	25.69	256.90	RRVBCPW	31.00	310.00		26.30	263.00	99ZX14352	33.88	338.80	
6	Pass Rite Training Aid			-			-		22.00	132.00			-	
1	Crush Spike Trainer			-			-	6509	118.00	118.00			-	
				-			-			-			-	
	Larson Girls Volleyball			-			-			-			-	
		, ,,,									Flaghouse			
	Volleyballs	5V5WSC	23.95	359.25			-	SV186	26.30	394.50	99ZX14514	33.18	497.70	
	Sports Pro Volleyball top			-			-			-			-	
50	Volleyball shorts			-			-			-			-	

			oledo P.E. Sup		В	SN Sports		С	annon Sport			Forsports	
Qty	Description	Alt.	Unit Cost T	otal	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total
3	Athens Boys Basketball Basketball. Coaches Double Folder			-			-						
2	Slip Nott Replacement Pads	15"x18"	39.05	78.10	BS 1187342	34.98	69.96					46.95	93.90
4	Mark V Scorebooks		5.95	23.80	MSMARKBK 21" BSN/CP	4.33	17.32	Mark V 191201	4.94	19.76		4.80	19.20
6	Anti-Whip Nets			-	SNBBNWIP Y	1.91	11.46	CSI 04096	2.05	12.30		4.00	24.00
2	Ball Bags			-			-	CSI 13042	18.22	36.44			-
15	Red/White Reversible Jerseys			-			-				Number 1 side	8.25	123.75
12	ZK Pro Mens Basketalls		37.75	453.00	BS- LBTFIKPRM BSN	39.98	479.76	Spalding 04172	36.36	436.32		35.95	431.40
1	Portable Jump Rope Rack			-	1188325	79.98	79.98	CSI 13072	67.22	67.22			-
16	Speedline Basketball Jerseys & shorts			_			_			_			_
	Pro-Line Custom Shooter shirts/pants			-			-			-			-
	Athens Girls Basketball			-			-			-			
2	Multi-Sport Indoor Timer/Scoreboard	Edge		-	Macgregor SK2222	344.98	689.96	Sportable 13110	484.54	969.08			
12	Rawlings Girls Basketball	MHSAA	35.06	420.72	BS-		-			-		33.50	402.00
1	Ball Storage Cage			-	12002100	171.97	171.97	CSI 13037	122.6	122.60		299.00	299.00
15	Under Armor Warm-Up Jacket			-			-			-		40.95	614.25
15	Under Armor Warm-Up Pants			-			-			-		32.95	494.25

Dia	Toledo P.E. Supply		BSN Sports						Forsports				
04	Description						Tatal		annon Sports		A 14		Tatal
Qty	Description	Alt.	Unit Cost	lotai	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total
	Troy High Boys Basketball			-			-						-
	Troy riigii boyo busketbuli	Edge											
12	Rawlings Leather Basketballs	Composite	35.06	420.72			-			-		33.50	402.00
1	Slipp Nott Replacement Pads	15"x18"	39.05	39.05			-			-		46.95	46.95
15	Carry Bags			-			-			-	Reuch 627	24.75	371.25
2	EZ Rebounders. Rebounding rings			-			-			-			-
12	6" Mini Cones			_	MSCONE	2.38	28.56	CSI 21030	4.66	55.92		1.25	15.00
12	6 Willin Cories			-	MISCOINE	2.30	20.50	Mark V	4.00	55.92		1.25	15.00
4	Mark V Scorebooks		5.95	23.80	MSMARKBK	4.33	17.32	191201	4.94	19.76		4.80	19.20
				-			-			-			-
	Troy High Girls Basketball			-			-			-			-
					LBTF1008W			Spalding					
6	Girls Spalding Basketballs		32.50	195.00	С	33.98	203.88	04076	31	186.00		35.95	215.70
6	Girls Rawlings Basketballs			-			-			-		33.50	201.00
1	Curved Body Shield			_	ProDown FBDMCOLX	42.91	42.91					39.95	39.95
•	·												
1	Slipp Nott Traction Refill			-	BS-1187342	34.98	34.98			-		46.95	46.95
6	Classic Whistles			-	MSWHIFOX	3.26	19.56	Fox 40 1357	2.73	16.38		2.00	12.00
				-			-			-			-
	Baker Girls Volleyball			-			-			-			-
					Tachikara			Tachikara 6100 white					
10	Practice Volleyballs		30.56	305.60	SV-5WS	29.41	294.10	only	25.3	253.00		11.00	110.00
								Tachikara					
2	Game Leather Volleyballs	White only	36.22	72.44			_	6127 white only	34.18	68.36		39.00	78.00
_	Same Loan Voneysand	7.13 51119	50.22	-				J,	37.10	-		33.00	-
	Boulan Girls Volleyball			-			-			-			-
					MSWHIFOX								
					& MSLNYD Lanyards			CSI					
2	Whistles w/lanyards			-	sold in dz.	4.50	9.00	13027+1346	0.5	1.00		4.00	8.00

	Toledo P.E. S	upply		BSN Sports		С	annon Sport	S		Forsports	
Qty Description	Alt. Unit Cos	t Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total	Alt.	Unit Cost	Total
2 Volleyball scorebooks		-	Gamecraft 1111xxxx	2.98	5.96	CSI 13102	3.48	6.96		4.80	9.60
2 Game leather volleyballs	36.22	72.44	BS- TACSV5WH	41.88	83.76	Tachikara 6127 Tachikara	34.18	68.36		39.00	78.00
10 Practice Volleyballs	30.56	305.60	BS-TACVI8L	31.74	317.40	6100	25.3	253.00		11.00	110.00
6 Pass Rite Training Aid1 Crush Spike Trainer		- - -	BS-1238792	17.98	107.88			- -			-
Larson Girls Volleyball		-			-			-			-
15 Volleyballs50 Sports Pro Volleyball top50 Volleyball shorts		- - -			- - -	Tachikara SV5WM/NW	22.31	334.65 - -			- - -

		Anaconda Sports		Signature Sports		Dimmer Warren			Dee's Sport Shop			
Qty	Description	Alt.	Unit Cost	Total	Unit Cost	Total	Alt	Unit Cost	Total	Alt	Unit Cost	Total
	Athens Boys Basketball											
3	Basketball. Coaches Double Folder			-	21.00	63.00		22.50	67.50		20.00	60.00
2	Slip Nott Replacement Pads			-	47.00	94.00		25.40	50.80			-
4	Mark V Scorebooks		4.75	19.00	5.00	20.00		4.80	19.20		4.75	19.00
6	Anti-Whip Nets			-	12.00	72.00	Bison AWN	4.50	27.00			-
2	Ball Bags			-		-		7.90	15.80			-
		1 color #,							222.25 /	Martin RTA20		105.00 /
15	Red/White Reversible Jerseys	F&B both sides	15.25	228.75	9.50	142.50	#'s 2 sides / #'s 4 sides	15.95 / 19.85	239.25 / 297.75	#'s 1 side / #'s 2 side	7.00 / 8.00	105.00 / 120.00
10	rea/write reversible delacys	Anaconda	10.20	220.75	3.30	142.00	11 3 4 SIGCS	10.00	207.70	2 Sido	7.007 0.00	120.00
40	ZIC Des Marco Deschatalle	MG-4000-PC-		004.00	44.00	500.00		05.40	404.00			
12	ZK Pro Mens Basketalls	NF	23.49	281.88	44.00	528.00		35.40	424.80			-
1	Portable Jump Rope Rack			-		-			-			-
40	Once Wee Booked all lance a find at											
	Speedline Basketball Jerseys & shorts Pro-Line Custom Shooter shirts/pants			-		-			-			
10	1 10-Line Gustom Ghooter Shirts/pants			_		-			_			
	Athens Girls Basketball			-		-			-			-
2	Multi-Sport Indoor Timer/Scoreboard			-		-		429.40	858.80			-
40	Pavilinas Cida Paaliathall				25.00	400.00		04.00	440.40	Spalding	00.00	222.00
12	Rawlings Girls Basketball			-	35.00	420.00	LBCXX	34.20	410.40	TF1000	28.00	336.00
1	Ball Storage Cage			-	129.00	129.00	42x24x28	224.50	224.50			-
							Holloway 9396 red					
							w/white					
15	Under Armor Warm-Up Jacket			-	39.50	592.50	piping	39.75	596.25			-
15	Under Armor Warm-Up Pants			-	35.00	525.00	Holloway 9397	26.85	402.75			

		Anaconda Sports					Dimmer Warre	n	De	р		
Qty	Description	Alt.	Unit Cost	Total	Unit Cost	Total	Alt	Unit Cost	Total	Alt	Unit Cost	Total
				-		-			-			-
	Troy High Boys Basketball			-		-			-			-
12	Rawlings Leather Basketballs			_	47.00	564.00		33.90	406.80	Spalding TF1000	28.00	336.00
12 1	Slipp Nott Replacement Pads			-	89.00	89.00	60 sheets	25.40	25.40	111000	26.00	330.00
	onpp Nott Replacement 1 ads				03.00	00.00	w/screened	20.40	20.40			
							logo					
15	Carry Bags			-	44.00	-	27x11x13	29.70	445.50			-
2	EZ Rebounders. Rebounding rings			-	44.00	88.00		138.50	277.00			-
12	6" Mini Cones			-	1.50	18.00		5.45	65.40			
4	Mark V Scorebooks		4.75	19.00	5.00	20.00		4.80	19.20		4.75	19.00
	Troy High Cirls Packethall			-		-			-			-
	Troy High Girls Basketball	Anaconda		-		-			-			-
		MG-4500-PC-								Spalding		
6	Girls Spalding Basketballs	NF	23.49	140.94	44.00	264.00		33.50	201.00	TF1000	28.00	168.00
6	Girls Rawlings Basketballs			-	44.00	264.00		33.90	203.40			-
1	Curved Body Shield			_		_			_			_
•	·											
1	Slipp Nott Traction Refill			-		-		25.40	25.40			-
6	Classic Whistles			-		-		4.60	27.60			-
				-		-			-			-
	Baker Girls Volleyball			-		-			-			-
		NI/A in our on										
10	Practice Volleyballs	N/A in green SV18L	27.39	273.90	27.00	270.00	white only	28.70	287.00			_
. •				0.00		0.00	, ,	_00	_00			
0	O a contraction (Valley balls	N/A in green	00.00	07.00	44.00	00.00		0.4.45	00.00			
2	Game Leather Volleyballs	SV5WH	33.98	67.96	41.00	82.00	white only	34.45	68.90			-
	Boulan Girls Volleyball			-		-						-
	Salah Silis Tolloysull											
2	Whictles wilesverds				2.00	E 00		1.75	3.50			
2	Whistles w/lanyards			-	2.90	5.80		1./5	3.50			-

Dia	3021	Anaconda Sports			Cianoturo	Cnorto	Dimmer Warren			Dee's Sport Shop		
Qty	Description	Alt.	Unit Cost	Total	Signature Unit Cost	Total	Alt	Unit Cost	Total	Alt	Unit Cost	Total
2	Volleyball scorebooks			-	7.00	14.00		5.20	10.40			-
2	Game leather volleyballs	SV5WH	33.98	67.96	41.00	82.00		34.45	68.90			-
10	Practice Volleyballs	SV18L	27.39	273.90	27.00	270.00		28.70	287.00			-
6 1	Pass Rite Training Aid Crush Spike Trainer			- -		-			:			-
	Larson Girls Volleyball			-		-			-			-
50	Volleyballs Sports Pro Volleyball top Volleyball shorts	SV18L	27.39	410.85		:	SV18L	28.70 31.75 22.70	430.50 1,587.50 1,135.00			

ыu	9621	Aluminu	m Athletic Ec	uinment	9	& S Worldwi	do
Qty	Description	Alt	Unit Cost	Total	Alt	Unit Cost	Total
3	Athens Boys Basketball Basketball. Coaches Double Folder						-
2	Slip Nott Replacement Pads			-			-
4	Mark V Scorebooks	AAE BB1	5.00	20.00	W4489	4.61	18.44
6	Anti-Whip Nets			-	W2984	1.80	10.80
2	Ball Bags			-			-
	5 10.00 % 5						
15	Red/White Reversible Jerseys			-			-
12	ZK Pro Mens Basketalls			-	W8317001	38.02	456.24
1	Portable Jump Rope Rack			-			-
16 16	Speedline Basketball Jerseys & shorts Pro-Line Custom Shooter shirts/pants			- -			- -
	Athens Girls Basketball			-	Portable		-
2	Multi-Sport Indoor Timer/Scoreboard			-	W7328 incl. shipping	528.80	1,057.60
12	Rawlings Girls Basketball			-	W3688	17.28	207.36
1	Ball Storage Cage			-	W9075	87.03	87.03
15	Under Armor Warm-Up Jacket			-			-
15	Under Armor Warm-Up Pants			-			-

Dia .	1 902 I		m Athletic Eq	inmant	S & S Worldwide				
Otv	Description	Aluminui	Unit Cost	Total	Alt	Unit Cost	Total		
Qty	Description	Alt	Onit Cost	Total	Ait	Offic Cost	Total		
				-			-		
	Troy High Boys Basketball			-			-		
12	Rawlings Leather Basketballs			_			_		
1	Slipp Nott Replacement Pads			-			-		
15	Carry Bags			-			-		
2	EZ Rebounders. Rebounding rings			-			-		
12	6" Mini Cones		4.95	59.40	W5043005	2.04	24.48		
12					110010000				
4	Mark V Scorebooks	AAE BB1	5.00	20.00	W4489	4.61	18.44		
	Troy High Girls Basketball			-			-		
	o,g co _ucc.uu								
6	Girls Spalding Basketballs			_	W5626002	34.21	205.26		
6	Girls Rawlings Basketballs			-		0	-		
1	Curved Body Shield			_					
1	Curved Body Stillerd			-			-		
1	Slipp Nott Traction Refill			-			-		
					W5896007				
6	Classic Whistles			-	Black Plastic	0.25	1.50		
	Baker Cirla Vallavhall			-			-		
	Baker Girls Volleyball			-			-		
40	December 1/4 the facility								
10	Practice Volleyballs			-			-		
2	Game Leather Volleyballs			-			-		
	Boulan Girls Volleyball			-			-		
	·								
2	Whistles w/lanyards			-	W5897	0.25	0.50		

	502.						
		Aluminu	m Athletic Ec	uipment	S	& S Worldwid	de
Qty	Description	Alt	Unit Cost	Total	Alt	Unit Cost	Total
2	Volleyball scorebooks			-	W8546	3.91	7.82
2	Game leather volleyballs			-			-
10	Practice Volleyballs			-	W5842002	29.27	292.70
6	Pass Rite Training Aid			-			_
1	Crush Spike Trainer			-			-
	·			-			-
	Larson Girls Volleyball			-			-
15	Volleyballs			-	W7346	26.80	402.00
50	Sports Pro Volleyball top			-			-
50	Volleyball shorts			-			-